DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
W) —162.64 + 2 = 6 3710 = 4 =
0 —21258 =3 = 51 —23.16 + (—2) =
) —50.5 + (—1) = 5% 38380 = (—10) =

s00) 9824 + 8 =

305 194.6 +2 =

306 655 + (—10) =
307 —16856 + 2 =
s08) —47190 + 10 =
109 51996 + (—6) =
310 1404 +4 =

s1) —55602 + 9 =
312) —3353.6 + 8 =
a3 —2780 + (—4) =
514 3419.5 + (—=7) =

315 —H4808 + 8 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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—95.92 +2 =

—22960 + (—10) =

381.08 = (—7) =

—50792 + 7 =

—334.6 < (—5) =

517.3 + 10 =
42750 =+ (—6)
3085.1 + 7 =
19872 =+ 3 =

41382 + (—6)

450.48 = (—8) =

269.4 + (—4)


https://www.workulum.com

